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We have included the starred Levels with a logical basis to the grade Level, in this assessment, allowingtehitriemighes
Level ofinderstanding. If children are familiar with models other than these, they may demonstrate their understand

Because there are so many Levels of Measurement, we have included larger images of each Level fron
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Is the straw longer than the stick?

short Is the ribhon longer than the straw?
height length So is the ribbon also longer than the stick?
long
e ghort
short
.distance

. long distance A

light

lighter heavy

heavier

If the circle has a larger area than the square,
and the square has a larger area than the triangle,
then does the circle have a larger area than the triangle?

larger volume,
smaller volume
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larger capacity smaller capacity
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gap
gap
overlap
overlap

If the blue triangle has a smaller area than the green triangle,
and the green triangle has a smaller area than the orange triangle,
then does the blue triangle have a smaller area than the orange iriangle?
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Hthe marble Is ighter than the block, and the block is lighter than the
pencil aase, is the marbie also lighter than the pendil case?

i Is heavier than the biock. heavier than
the marble, is the pencil case alsa heavier than the marble?

heavier
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Mass of pencil case = 9 blocks Mass of pencil case = 6 marbles block is lighter marble is heavier

slon 12 VoumezBckes  VobmesTabes  Vokmerdaes
15 Bt moses voume snaler han B 30c0d modes vlume? Why do we need fewer marbles than blocks ~ Why do we need more blocks than marbles
3rowsofd=12 5 e second model's vokume smaller than the thrd model's volume?
W to measure the same mass? to measure the same mass?
LD AN 3x4=12 1 e s vhamslrer e e mcd's vone?
thousands| hundreds| tens | ones
Tals ol Avea: 12 squares + 1 and a half squares = 13 and a half squares S018 e ot v ko rer e st el kume?
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metre decimetre cel etre etre.
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- 2 metres and 35 centimetres.

30424 =54 54 cubic centimetres.
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2 contimetres and 6 mimetres

s the capacity of the bott,
1 ¥tre and 280 milliitres?

s 1 ire and 260 millites,
11280 mL?

1 ire and 280 mites,
1280 mL?

thee
Amass ofless than 1 kilogram A mass of more than 1 gram
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Volume o watr Gsplaced: 1S0mL
Voluma of ock 2: 150 .
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Same area different perimeters.

180 metres

1 metre is o Kilometre

Divide number of metres by 1000

to measure the same length n kllometres
because a kilometre is 1000 times

Ionger than a metre so we will need

Same perimeter
different areas
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PRE-ASSESSMENT

Length &3 l
Have? lengths ‘ . a
Lie them down " -’3

Name their lengteagtid = short

Nameonedon@andone&hord height 'length
ong

Height short

Have? lengths di:?:nr::eA

Stand them up. .
Name their lengthsighi . long distance A
Nameonedalbandone&hord

Distance

Have2 objects

Place them closedach other
Name theliength&hort distande
Place therfiar froneach other
Name theliengthghordistancé
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HORYESII=S|ISN] Select the Level that allows you to demonstrate your highest unde

Length

Have2 lengths

Lie them down

Name their lengtieagttd
Nameonedong@andone&hord

Height

Have2 lengths

Stand them up.

Name their lengthseight
Nameonedalbandone&hord

Distance

Have2 objects

Place them closedach other
Name thelengthghort distanée
Place thefiar froneach other
Name thelengthshordistancgé

&3
‘ ; ,—3 tall

o short
height length
long
short

short
.distanceA
. long distance A

Lengthd directcomparison
Have 3 lengths

Place the lengths along the same base line.

Compare théémgths
Describe tHength®f the shapes.
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Is the straw longer than the stick?
Is the ribbon longer than the straw?
So is the ribbon also longer than the stick?
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Complete Measurement Levels
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